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Plot Sensor and FgRec Data

dFVo
oD —a—ail—ap——ah—aa—0— & & L

—o— dFVI
+

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

day

—e— DUC

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

300 -
250 -
200 -
150 -
100 -

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

day

52.5

o
o
Irs)
o
~
<
o
)
<
o
N
<
> &)
o o
o o
>
©
+ X +
o
o
<
o
~
™
o
)
3]
— P
o
N
™
L o
T T T T T T T T T T T T
o o o o o < 1) N — o o ©
m [Te] o Tp) [{=} © © © © o o
o o o o o o o

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

90

80

70

60

50

40

2500

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['I", "lopt’], ['T", 'Top

t'], ['RH’, "RHopt’],

['ETcl’, "optETcl’],

"LAI",

" optEtRate’ ]

LA A AR

—

M

RV
WY

—

i o~ S~ AT \’V\V\A — ol
i [ \/\'\"‘\,\_
A ﬂ i — ,\/\a
A ~ ] A
ATV . YA EA 1| AVAY:
l ' \/\vl I
_ f !\,W
TV 1
R Vvﬂj‘viv '_—: \
h )
MMy, — o)
1
~/
bl TNV 2
Al N
| ““«A.A.é‘:r&
i //____f—\\ — LAl |
A
e ; ™~
/ | ~
- | ~—
Vm | i A\/\v\ | optEtRate |
e : WY [VANVWAAWN
I P, | V
| \ Y
"




350

300

250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

[}

- e-od

N ANA

Ay

'“m

o)
_ - A2 o o & 2 B8 & o5 ' 1 —@— setVI ETcl
_ ‘- : —0— setVl_fgRec
D < . o 200 V : —0—  setVI_WN
D — | —@— slSetVI ]
1 I
10 20 30 40 50 60



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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35 A

30 -

25 A

20 ~

15 1

10 +

—o— ME

e

T T
630 635 640

m=780,m FV0=0

90

85 -

80

75 A

70 -

65

60 -

—o— ME

780 785 790

m=970,m FV0=0

30

25 -

20 A

15 4

10

05 -

00 -

-o— ME

970 975 980

16.

16.

16.

16.

16.

17.

17.

17.

17.

17.

17.

17.

17.

17.

17.

17.

17.

18.

18.

18.

18.

18.

m=465, FV0=0

90 A

85 -

80 A

75 -

70

M_E

4;0 4%5
m=670,n FV0=0

50 A

45

40 -

35 -

30 A

6;5 GéO
m=830,n FV0=0

90 ~

85 -

80 A

75

70 -

65

60

830

855 8&0
m=1010m FV0=0

30 A

25 A

20 -

15

10 ~

—0—

M_E

1010

1015 1020

17.

17.

17.

16.

16.

16.

16.

17.

17.

17.

17.

17.

17.

17.

18.

18.

18.

17.

17.

17.

17.

m=535, FV0=0

10

05 -

00 -

95 A

90 -

85

80

M_E

5&0 5&5
m=705,n FV0=0

70 A

65

60 -

95

50 -

45 ~

40 ~

7i0 7%5
m=880,n FV0=0

10

05 -

00 A

95 A

90 -

85 ~

80 -

880 885 890

52

51 -

50 -

49 -

48 -

47 -

46 -

-o— MW

éa

400

600 800 1000




51.

50.

50.

49.

49.

51.

50.

50.

49.

49.

51.

51.

50.

50.

49.

m=430, FV0=0
—— MW
49 -
48 -
47 -
4§o 4:'4,5 4z'10
m=630,m FV0=0
0 —— MW
5 -
0 -
5 -
0 -
6I|30 655 64|10
m=780,m FV0=0
0- —— MW
5 -
0 -
5 -
0 -
7éo 71'35 750
m=970,m FV0=0
51 —o— MW
0 -
5 -
0 -
5 -

970 975 980

50. 75 A

50. 50 A

50. 25 A

50. 00 A

49.

49.

49.

51.

50.

50.

49.

49.

50.

50.

49.

49.

48.

48.

51.

51.

50.

50.

75 A

50

25 A

m=465, FV0=0

—— MW

4%0 4;5
m=670,n FV0=0

0 - —-@— MW

6;5 GéO
m=830,n FV0=0

| —e— mw

o [$)] o (&) o (&)
1 1 1 1 1

Bé5 8&0
m=1010m FV0=0

830

-— MW

o ($)] o (&)
1 1 1 1

1010 1015 1020

50.

50.

49.

49,

48.

51.

50.

50.

49.

49.

51.

50.

50.

49.

49.

m=535, FV0=0

—0—

M_W

540
m=705,n FV0=0

T
545

—0—

M_W

710
m=880,n FV0=0

T
715

——

M_Ww

885

890

m=590, FV0=0

50. 5 A

50. 0 -

49.5 A

49. 0 -

48.5 A

—— MW

590

5é5
m=740,n FV0=0

T
600

51.0 A

50. 5 -

50. 0 -

49.5 A

49.0 “—

—— MW

740

7&5
m=925,n FV0=0

T
750

51.5 4

51.0 A

50. 5 -

50.0 A

49.5 A

—o— MW

925

930

935
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015 -
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P3-4

Byia) | EEBEETIC (7)) | EBE (BAH/HK) | XK R

07:25 278 150.0 BS| {Ri%e07:25 Bz (RS
08:00 278 150.0 [Z=| 1BRi%@08:00 Bzh (KHEERESE)
09:45 278 150.0 & =| 1Ri%@09:45 Bzh (KRAHEREE)
11:10 278 150.0 =l RiBe11:10 Bz (REAKEE)
12:30 278 150.0 E BRige12:30 Bz (GRAERESE)
13:50 278 150.0 |Z=| 1Ri%@13:50 Bzh (RAHEREE)
14:45 278 150.0 (& =| 1BRige@14:45 Bzh (REERESE)
=it+11946.0 (7:%) 1050. 0 3ZHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (179.0

ERIASSPRIERL145.0 ml.

i# 8] /KECZE (2665. 0 vs 5465.0) T 5

145.0), AIEEHT—@E XAH5

FEREERBEC (2665.0) 5i&EEC (2000.0) RERK, BHE
[B;&REC 5465.0 K5, EiNF{KECAR&MRER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=50 (2025-05-18)

150

100 A

50

200 3

150 -

100 -

50 A

VI, VO/¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1500 1432

056

00
Warning: lcol [FVI',| "FVO’'] missing

- 25

M_E

- 20

- 15

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

200

100 A

Bylnit @52 01:45: ET=1413 Fg=1950. 0 Ro=506. 0

5] S S A B o

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200

100 A

W | W [Z=| 1A | [ | [ | | m | | w | m | w5 | w5 [ B3 [ B9 [ WA m [ w [ || ®

ByEt @D50 18:58: ET=1084 Fg=1160.0 Ro=nan

- s 2

- 2000

- 1000

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200

100 A

Lo l——it—= -

Zo| B | B | R | 5 | BS |BT B2 | 05 | BB |BE | B35 | S5 (BB (BB |(ZE|(2E (25 (25 (%5(%F

ByWoFv @D52 01:45: ET=869 Fg=1050.0 Ro=249.0

- 2000

- 1000

0.6

0.4+

0.2~

0.0

1500

80 -

60

—_—
[ ] | _obs
—@— PPFD obs

o RH_obs
o RHo obs

hour

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



- ME
17.0 -
16.5 -
16.0 -
T T T T
400 600 800 1000
m=650,m FV0=0
16.901 o  y
16. 85
16. 80
16. 75 -
16. 70
16. 65
16. 60
T T T
650 655 660
m=940,m FV0=0
17.301 oy
17. 25
17. 20
17.15
17.10
940 945 950
m=570,m FV0=0
50. 5 - —— MW
50. 0 -
49.5
49.0
48.5 -
570 575 580

16. 2

16. 1 4

16. 0

15.9 4

15.8 A

17.

16.

16.

16.

16.

16.

16.

m=430, FV0=0

450 455 4&0
m=720,n FV0=0

071 o wE
95
90
85
80

75 1

m

70 A

51 4

50 -

49 ~

48 -

47 -

—— MW

46 -

m=650,m FV0=0

400 600 800 1000

50. 5 A - MW

50.0 A

49.5 -

49.0 -

48.5 -

650 655 660

16.

16.

16.

16.

16.

17.

16.

16.

16.

16.

16.

16.

49.

49.

48.

48.

47.

47.

46.

50.

50.

49.

49.

48.

m=475, FV0=0

60

55 -

50 A

45 -

40 -

m=795,m FV0=0

00 ~

95 ~

90 -

85 ~

80 -

75 1

70

m=430,m FV0=0

m=720,m FV0=0

5_

0 -

16.

16.

16.

16.

16.

16.

16.

17.

17.

17.

17.

17.

16.

16.

50.

50.

50.

49.

49.

49.

49.

50. 5 A

50. 0 -

49.5 A

49.0 -

48.5 A

48. 0 -

m=570, FV0=0

80

75 A

70 -

65

60 -

95 A

50

570 5%5 550
m=880,n FV0=0

20

15 1

10 4

05 -

00 -

95 A

90

—o— ME

-

880 8é5 8é0
m=475,n FV0=0

50

25 -

00 A

75 A

50 -

25 A

00 -

—— MW

i

4%5 450 4é5
m=795,n FV0=0

-o— MW

i

795 800 805




m=880, FV0=0

50. 0 -

49.5 -

49.0

48.5 -

48. 0 -

47.5 -

—o—

M_Ww

880

T
885

890

m=940, FV0=0

—— MW
50. 5 A
50. 0 A
49. 5 A
49.0 A
48 5 T T T
940 945 950
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P3-4

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:45 278 150.0 (Z=| {Ri%@07:45 Bz (REAHEHSR)
07:50 278 150.0 (& =| 1BRi&e07:50 Bzh (REERSE)
07:55 278 150.0 (2 =| {Ri%e07:55 Bz (RAEESE)
09:20 278 150.0 [Z=| 1BRi%009:20 Bzh (REERESE)
10:25 278 150.0 & =| 1Ri%@10:25 Bzh (RAHERESE)
11:35 278 150.0 = RRiBe11:35 Bz (REAEEE)
12:35 278 150. 0 E BRige12:35 Bz (GRAERESE)
13:30 278 150.0 =l {Rig@13:30 B3 (RAERSE)
14:20 278 150.0 5| Rike14:20 Bz (REERS)
15:05 278 150. 0 E BRi&e15:05 Bzl (GRAERESE)
16:00 278 150. 0 El BRi&e16:00 Bz (GRAEREE)
23t+]3058.0 (11%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRGERL145. 0 ml.

BEREBIEC (2660.0) 5i¥TEEC (2000.0) HEILKA, BFHE

[B]/&EC 5815.0 K5, EINF{KECAE&AEERR

H#E[ERECE (2660. 0 vs 5815.0) 03



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 { ——

P3-4_0, Day=49 (2025-05-17)

150 A

100 A

50

200 3

150 -

100 -

50 A

VI, VO'¥RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1700
369

40 00
Warning: lcol [FVI',| "FVO’'] missing

=~

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

- 2000

- 1000

"%

- 25

M_E

- 20

- 15

300

200 -

100 -

]
Bylnit, @52 01:46: ET=1666 Fg=2250.0 Ro=605.0

4 @
PO PN

4
-

3000

- 2000

- 1000

1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 16 17 18 19 20 21 22 23

3000

400 -

300

200 -

100 -

§°I
b

5
— — ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5|2 5| B i 5 5 i i 5 G A i 5 G i B B B G B B B G

]
ByEt @D49 19:08: ET=1357 Fg=1450.0 Ro=nan :
]

\ 4
PN

- 2000

- 1000

1

@
——
1 2 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23

3000

4001 B (2B (25 (27 (27| B | B (22|25 | 5 | 5 | BF | BF | BF | BF | BE | RE | RE [RE [ M [ M [ M

300
200 -

100 -

Lo R O —

]
ByWoFv @D52 01:46: ET=1105 Fg=1650.0 Ro=384.0

L 1 2
,.
9
(1

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

M 225|225 | B | B |25 |52 | 0B | B5 | B | BF | i5 | | BE |5 [ | BE | A5 [ BF | HR

500 -

I
[ ] | _obs

1000 - - : . . —@— PPFD_obs

RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



17.0 A

16.5

16. 0

15.5

15.0

16.

16.

16.

16.

16.

16.

16.

16.

16.

16.

16.

16.

16.

16.

M_E

“~,

T T
800 1000

m=640,m FV0=0

T
600

30 A

25 A

20 -

15

10 ~

05 ~

00 ~

—0— ME

T T
640 645 650

m=860,m FV0=0

90

85 -

80 A

75

70 -

65

60 -

—o— M_E

!

865 8%0
m=490,n FV0=0

860

49 A

48 ~

47 -

46

- MW

il
i

490 495 500

m=490, FV0=0

1554 o uE
15. 4
15.3 -
15. 2 -
15.1
T T T
490 495 500
m=700,m FV0=0
16.401 o g
16. 35 -
16. 30 -
16. 25 -
16. 20 -
16. 15 -
16. 10 -
T T T
700 705 710
m=920,m FV0=0
17004 o 4
16. 95 -
16. 90 -
16. 85 -
16. 80 -
16. 75 -
16. 70 -
920 925 930
m=530,m FV0=0
50. 0 ~——
49.5 -
49.0 -
48.5 -
530 535 540

15.

15.

15.

15.

15.

15.

15.

16.

16.

16.

16.

16.

16.

16.

17.

16.

16.

16.

16.

m=530, FV0=0

90 A

85 ~

80 -

75 1

70 -

65

60

M_E

555 5&0
m=755,n FV0=0

60

55 ~

50 -

45 -

40 -

35 A

30 A

7é0 7é5
m=980,n FV0=0

00 ~

95 -

90 ~

85

80 -

9é5 960
m=580,n FV0=0

980

50.0

49.5 -

49.0

48.5

-— MW

580 585 590

16.

16.

16.

15.

15.

16.

16.

16.

16.

16.

16.

16.

m=580, FV0=0

10

05 -

00 -

95 -

90

M_E

5é5 5é0
m=810,n FV0=0

580

80 A

75 A

70 -

65

60 -

95

50

50 -

49 -

48 -

47 -

46

—— MW

800 1000

m=640,m FV0=0

600

50. 0 -

49.5 A

49.0 A

48.5 A

48.0 A

-o— MW

640 645 650




m=700, FV0=0

50. 0

49.5 -

49.0

48.5 -

48.0

—— MW

T
700

T T
705 710

m=920,m FV0=0

50. 0

49.5

49.0

48.5

48.0

47.5 -

—— MW

T
920

T
925 930

50.

49.

49.

48.

48.

50.

50.

49.

49.

48.

m=755, FV0=0

——

M_W

T
755

7é0 7é5
m=980,n FV0=0

——

M_W

T
980

T
985 990

m=810, FV0=0
50. 0 MW
49.5
49.0
48.5
48.0
T T T
810 815 820

m=860, FV0=0

50. 5 A

50. 0 A

49.5 -

49.0 A

48.5 -

48.0 A

—0—

M_W

860

T
865

870
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P3-4

BfiE) | GEBEIK (FY) | Elis (EH/HK) (XS R

05:45 278 150.0 FA| 1BRi&@05:45 B3 (KRAFEREE)
05:50 278 150.0 PH| {Ri%@05:50 B (RAEEEE)
07:40 278 150.0 BS| 1Ri&e07:40 Bah (REAERS)
08:45 278 150.0 BE| {RRiB008:45 Bz (RFAREE)
09:45 278 150.0 & =| 1Ri%@09:45 Bzh (KRABHEREE)
10:40 278 150.0 (& =| 1BRiB@10:40 Bzh (REERESE)
11:25 278 150.0 | =| Rige11:25 Bz (RBEREE)
12:10 278 150.0 (& =| BRige12:10 Bzh (REEFREE)
12:55 278 150.0 (Z=| 1BRige12:55 Bzh (REERESE)
13:35 278 150.0 [Z=| {Ri%e13:35 Bz (RAEEESE)
14:15 278 150.0 (Z=| 1BRige14:15 Bzh (REERESE)
14:55 278 150.0 (Z=| 1BRige14:55 Bzh (REERESE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

MEREHERE STHEARS (179.0 : 145.0), AIREETF—®E XAH5
BRI\ SEPRGERL145. 0 ml.

REXEEBIEC (2660.0) 5i&EEC (2000.0) REKR K, BFEE

[B]/&EC 5655.0 K5, EINF{KECAE&AEERR

# B KECE (2660.0 vs 5655.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=48 (2025-05-16)

T e g g g S S B S g g
VI, VBIZRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1700
100 A

50

200 A
150 -
100 -

50 A

467

Warning: lcol ['FVI’,

"FVO' ] missing

Warning: lcol ["WC1',  "WC2'] missing

40

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 -

|

p——&
r‘

J1

1

5

6

7

]
Bylnit] @52 01:46: ET=1488 Fg=1950.0 Ro=472.0

10

11

12

13

- 2000

- 1000

4 30

- 25

- 20 =

- 15

- 2000

- 1000

30015 =

EXNESS

i

[

i

E3
B
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5]

=
B

3

200 -

100 -

0

ByEt @D48 19:08: ET=1475 Fg=1740.0 Ro=nan

1 2

5

6

7

8

9
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12

—_

- 2000

- 1000

30015 =

EXNESS

A

A

A

[

i

i

EZNEZAE-

%=

W
M|«

200 -

100 -

1.0 A

ByWoF

]
vi @D52 01:46: ET=1391 F

g=1800.0 Ro=439.0

10

14

- 2000

- 1000

15

17

22

23

0.8 1 2=

A

%=

W -
M|«

%=

%=

ER

A

PG

K

A

0.6

0.4+

0.2~

1800

1000 A

500 -

| _obs
—@— PPFD obs

80 -

40+ ©
°

ol N

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



12.

12.

12.

12.

12.

12.

14.

14.

14.

14.

14.

15.

15.

15.

15.

15.

15.

15.

16

15

14

13 A

M_E

T T T T
700 800 900 1000

m=570,m FV0=0

T
600

90

88 -

86

84

82 ~

80 ~

—o— M_E

T T
570 575 580

m=765,m FV0=0

30 A

25 -

20 A

15

10 ~

—o— M_E

i

750 7%5
m=970,m FV0=0

765

90

85 -

80 ~

75 -

70

65

60 -

:_“:/,/’[

13.

13.

13.

13.

13.

13.

14.

14.

14.

14.

14.

m=430, FV0=0 m=475, FV0=0
1.0 1.0
0.8+ 0.8 4
0.6 1 0.6 -
0.4+ 0.4+
0.2 A 0.2 ~
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
O- 0 T T T T 0- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1
m=625, FV0=0 m=680, FV0=0
40 A 13. 70 - M_E
38 - 13. 68
36 13. 66
34 13. 64 -
32 4 13. 62 4
30 1 = ME ) 1360-
T T T T T T
625 630 635 680 685 690
m=810,m FV0=0 m=860,m FV0=0
70 + . M_E 15.10 + - M_E
65 15. 05
60 15. 00
55 4 14. 95 4
50 - 14. 90 - 0—0—0—0-0
810 815 820 860 865 870
m m=430,m FV0=0
1.0
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